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Exercice 1

Cocher les bonnes réponses :
185 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
52 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U par 10
585 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
910 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
273 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 2

Cocher les bonnes réponses :
180 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
60 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
600 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
252 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
475 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10

Exercice 3

Cocher les bonnes réponses :
162 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
200 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 0] par 10
180 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
100 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
549 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 4

Cocher les bonnes réponses :
415 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
132 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
351 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
990 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
237 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10

Exercice 5

Cocher les bonnes réponses :
410 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
455 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
170 est divisible : L] par 2 Ul par 3 L par 5 L] par 9 U] par 10
66 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
324 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 6

Cocher les bonnes réponses :
110 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
432 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
178 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
150 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
126 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
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